Annotated Stata Output
Homework #5 Key
November 3, 2010, Page 30 of 15

#### Biost 517: Applied Biostatistics I

#### Emerson, Fall 2010
#### Annotated Stata Log File: Homework #5
#### November 3, 2010
#### In this file I give the Stata commands I used to produce
#### the key to Homework #4. In order to properly format

#### a table useful to casual readers, I cut and pasted some

#### of the output into Excel.

#### Comments edited into the log file produced by Stata are

#### on the lines that start with the four ‘#’ signs and are

#### printed in italics.
#### The Stata commands are put in bold face.
#### Stata output is displayed in regular typeface in blue.
-----------------------------------------------------------------------------

#### Open log file to save commands and results
. log using hw4Stata.log

-----------------------------------------------------------------------------------------------------------

      name:  <unnamed>

       log:  \\.psf\Home\Documents\teach\datasets\hw5stata.log

  log type:  text

 opened on:   2 Nov 2010, 17:41:22

#### I had previously stored the inflammatory markers dataset as a Stata data file. 
. use inflamm

##################

####

#### Problem 1

####

##################

#### Changing units for observation times from days to months. 
. replace ttodth= ttodth / 30.4

(5000 real changes made)

#### Creating a variable that indicates a censored observation (as opposed to an observed death). 
. g censor= 1 - death

#### Defining the variables containing the observation times and the indicators of the event of

#### interest for this problem. (We are interested in the distribution of censoring times, so

#### a censoring is the event of interest.) 
. stset ttodth censor

     failure event:  censor != 0 & censor < .

obs. time interval:  (0, ttodth]

 exit on or before:  failure

------------------------------------------------------------------------------

     5000  total obs.

        0  exclusions

------------------------------------------------------------------------------

     5000  obs. remaining, representing

     3879  failures in single record/single failure data

 389536.4  total analysis time at risk, at risk from t =         0

                             earliest observed entry t =         0

                                  last observed exit t =  96.77631

#### Creating a plot of survival probabilities 
. sts graph, title(Distribution of Time to Censoring) xtitle(Time From Study Enrollment (mos)) 
> ytitle(Probability of Not Being Censored)

         failure _d:  censor

   analysis time _t:  ttodth

#### Obtaining a table of probabilities of remaining uncensored at yearly intervals 
. sts list, at(12 24 36 48 60 72 84 96)

         failure _d:  censor

   analysis time _t:  ttodth

              Beg.                      Survivor      Std.

    Time     Total     Fail             Function     Error     [95% Conf. Int.]

-------------------------------------------------------------------------------

      12      4913        0              1.0000         .          .         .

      24      4795        0              1.0000         .          .         .

      36      4659        0              1.0000         .          .         .

      48      4506        0              1.0000         .          .         .

      60      3842      495              0.8891    0.0047     0.8795    0.8979

      72      3687        0              0.8891    0.0047     0.8795    0.8979

      84      3497        0              0.8891    0.0047     0.8795    0.8979

      96       143     3243              0.0381    0.0031     0.0323    0.0446

-------------------------------------------------------------------------------

Note:  survivor function is calculated over full data and evaluated at

       indicated times; it is not calculated from aggregates shown at left.

#### Obtaining a table of the quantiles remaining uncensored 
. stsum

         failure _d:  censor

   analysis time _t:  ttodth

         |               incidence       no. of    |------ Survival time -----|

         | time at risk     rate        subjects        25%       50%       75%

---------+---------------------------------------------------------------------

   total |  389536.4147    .009958          5000   86.74342  89.90131  93.38816

#### Obtaining the mean censoring time. Note that because the Kaplan-Meier curve goes all, 

#### the way to 0, the mean is in fact well-defined. (If it were not, I would have to use

#### a restricted mean over some specified time period.)
. stci, rmean

         failure _d:  censor

   analysis time _t:  ttodth

             |    no. of  restricted

             |  subjects        mean      Std. Err.    [95% Conf. Interval]

-------------+-------------------------------------------------------------

       total |      5000    86.36128      .1935508      85.9819    86.7406

#### Creating a variable that indicates a censored observation of CV death (as opposed to an observed death). 
. g censcvd = 1 - cvddth

#### Defining the variables containing the observation times and the indicators of the event of

#### interest for this problem. (We are interested in the distribution of times that the observation

#### of a CV death was censored, so that is the event of interest.)

. stset ttodth censcvd

     failure event:  censcvd != 0 & censcvd < .

obs. time interval:  (0, ttodth]

 exit on or before:  failure

------------------------------------------------------------------------------

     5000  total obs.

        0  exclusions

------------------------------------------------------------------------------

     5000  obs. remaining, representing

     4503  failures in single record/single failure data

 389536.4  total analysis time at risk, at risk from t =         0

                             earliest observed entry t =         0

                                  last observed exit t =  96.77631

#### Now obtaining the survival plot, tabled survival probabilities, quantiles, and mean censoring time

#### as done previously. 
. sts graph, title(Distribution of Time to CVD Death Censoring) xtitle(Time From Study Enrollment (mos)) 
> ytitle(Probability of Not Being Censored for CVD Death)

         failure _d:  censcvd

   analysis time _t:  ttodth

. sts list, at(12 24 36 48 60 72 84 96)

         failure _d:  censcvd

   analysis time _t:  ttodth

              Beg.                      Survivor      Std.

    Time     Total     Fail             Function     Error     [95% Conf. Int.]

-------------------------------------------------------------------------------

      12      4913       40              0.9920    0.0013     0.9891    0.9941

      24      4795       62              0.9794    0.0020     0.9750    0.9830

      36      4659       76              0.9637    0.0027     0.9581    0.9686

      48      4506       84              0.9462    0.0032     0.9395    0.9522

      60      3842      598              0.8200    0.0056     0.8088    0.8306

      72      3687       87              0.8012    0.0058     0.7896    0.8123

      84      3497      110              0.7771    0.0061     0.7649    0.7887

      96       143     3305              0.0322    0.0027     0.0273    0.0377

-------------------------------------------------------------------------------

Note:  survivor function is calculated over full data and evaluated at

       indicated times; it is not calculated from aggregates shown at left.

. stsum

         failure _d:  censcvd

   analysis time _t:  ttodth

         |               incidence       no. of    |------ Survival time -----|

         | time at risk     rate        subjects        25%       50%       75%

---------+---------------------------------------------------------------------

   total |  389536.4147   .0115599          5000   85.52631  88.84869  92.79605

. stci, rmean

         failure _d:  censcvd

   analysis time _t:  ttodth

             |    no. of  restricted

             |  subjects        mean      Std. Err.    [95% Conf. Interval]

-------------+-------------------------------------------------------------

       total |      5000    81.61403      .2728249      81.0793    82.1488

##################

####

#### Problem 2

####

##################

#### Defining the variables containing the observation times and the indicators of the event of

#### interest for this problem. (We are interested in the distribution of times to death, now)

. stset ttodth death

     failure event:  death != 0 & death < .

obs. time interval:  (0, ttodth]

 exit on or before:  failure

------------------------------------------------------------------------------

     5000  total obs.

        0  exclusions

------------------------------------------------------------------------------

     5000  obs. remaining, representing

     1121  failures in single record/single failure data

 389536.4  total analysis time at risk, at risk from t =         0

                             earliest observed entry t =         0

                                  last observed exit t =  96.77631

#### Now obtaining the survival plot, tabled survival probabilities, quantiles, and mean censoring time

#### as done previously. 
. sts graph, title(Distribution of Time to Death) xtitle(Time From Study Enrollment (mos)) 
> ytitle(Probability of Remaining Alive)

         failure _d:  death

   analysis time _t:  ttodth
. sts list, at(12 24 36 48 60 72 84 96)

         failure _d:  death

   analysis time _t:  ttodth

              Beg.                      Survivor      Std.

    Time     Total     Fail             Function     Error     [95% Conf. Int.]

-------------------------------------------------------------------------------

      12      4913       88              0.9824    0.0019     0.9784    0.9857

      24      4795      118              0.9588    0.0028     0.9529    0.9640

      36      4659      137              0.9314    0.0036     0.9240    0.9381

      48      4506      152              0.9010    0.0042     0.8924    0.9090

      60      3842      171              0.8636    0.0049     0.8537    0.8730

      72      3687      153              0.8292    0.0055     0.8182    0.8396

      84      3497      190              0.7865    0.0060     0.7744    0.7979

      96       143      112              0.7408    0.0082     0.7242    0.7565

-------------------------------------------------------------------------------

Note:  survivor function is calculated over full data and evaluated at

       indicated times; it is not calculated from aggregates shown at left.

. stci, p(10)

         failure _d:  death

   analysis time _t:  ttodth

             |    no. of 

             |  subjects         10%     Std. Err.     [95% Conf. Interval]

-------------+-------------------------------------------------------------

       total |      5000    48.28947      1.527861      45.1645    51.0855

. stci, p(20)

         failure _d:  death

   analysis time _t:  ttodth

             |    no. of 

             |  subjects         20%     Std. Err.     [95% Conf. Interval]

-------------+-------------------------------------------------------------

       total |      5000    80.19736      1.685449      77.5329    83.2566

. stci, p(25)

         failure _d:  death

   analysis time _t:  ttodth

             |    no. of 

             |  subjects         25%     Std. Err.     [95% Conf. Interval]

-------------+-------------------------------------------------------------

       total |      5000    93.42105             .      90.0658          .

. stci, rmean

         failure _d:  death

   analysis time _t:  ttodth

             |    no. of  restricted

             |  subjects        mean      Std. Err.    [95% Conf. Interval]

-------------+-------------------------------------------------------------

       total |      5000    86.08929(*)   .3229353      85.4563    86.7222

(*) largest observed analysis time is censored, mean is underestimated

#### Creating variables that indicate measurements exceeding the three specified thresholds.

. g crpgt2= crp

(67 missing values generated)

. recode crpgt2 0/2=0 2/max=1

(crpgt2: 4505 changes made)

. g crpgt3= crp

(67 missing values generated)

. recode crpgt3 0/3=0 3/max=1

(crpgt3: 4505 changes made)

. g crpgt5= crp

(67 missing values generated)

. recode crpgt5 0/5=0 5/max=1

(crpgt5: 4505 changes made)

#### Obtaining the plots of the probability of surviving within strata defined by CRP > 2 or not, by CRP > 3 or not, 

#### and by CRP > 5 or not. Note the way that I can obtain different colors and line patterns.

. sts graph, by(crpgt2) title(Survival Probabilities by CRP > 2) xtitle(Time From Study Enrollment (mos)) 
> ytitle(Probability of Remaining Alive) plot1opts(lp(solid) col(blue)) plot2opts(lp(dash) col(red))

         failure _d:  death

   analysis time _t:  ttodth

. sts graph, by(crpgt3) title(Survival Probabilities by CRP > 3) xtitle(Time From Study Enrollment (mos)) 
> ytitle(Probability of Remaining Alive) plot1opts(lp(solid) col(blue)) plot2opts(lp(dash) col(red))

         failure _d:  death

   analysis time _t:  ttodth

. sts graph, by(crpgt5) title(Survival Probabilities by CRP > 5) xtitle(Time From Study Enrollment (mos)) 
> ytitle(Probability of Remaining Alive) plot1opts(lp(solid) col(blue)) plot2opts(lp(dash) col(red))

         failure _d:  death

   analysis time _t:  ttodth

#### Obtaining the probability of surviving beyond 1, 2, 3, 4, 5, 6, 7, and 8 years. (The homework only asked

#### for 3, 5, and 8 years). Estimates are obtained within strata defined by CRP > 2 or not, by CRP > 3 or not, 

#### and by CRP > 5 or not.

. sts list, by(crpgt2) at(12 24 36 48 60 72 84 96)

         failure _d:  death

   analysis time _t:  ttodth

              Beg.                      Survivor      Std.

    Time     Total     Fail             Function     Error     [95% Conf. Int.]

-------------------------------------------------------------------------------

crpgt2=0 

      12      3025       33              0.9892    0.0019     0.9848    0.9923

      24      2983       43              0.9751    0.0028     0.9690    0.9801

      36      2915       67              0.9532    0.0038     0.9451    0.9602

      48      2835       80              0.9271    0.0047     0.9173    0.9357

      60      2492      102              0.8913    0.0057     0.8796    0.9020

      72      2403       88              0.8598    0.0064     0.8467    0.8719

      84      2291      112              0.8197    0.0071     0.8052    0.8333

      96        90       65              0.7768    0.0106     0.7552    0.7968

crpgt2=1 

      12      1824       53              0.9717    0.0038     0.9632    0.9783

      24      1756       68              0.9355    0.0057     0.9234    0.9457

      36      1687       70              0.8982    0.0070     0.8836    0.9110

      48      1616       70              0.8609    0.0080     0.8444    0.8757

      60      1320       69              0.8196    0.0090     0.8012    0.8366

      72      1256       64              0.7799    0.0099     0.7598    0.7985

      84      1178       78              0.7314    0.0107     0.7098    0.7517

      96        54       47              0.6789    0.0133     0.6520    0.7041

-------------------------------------------------------------------------------

Note:  survivor function is calculated over full data and evaluated at

       indicated times; it is not calculated from aggregates shown at left.

. sts list, by(crpgt3) at(12 24 36 48 60 72 84 96)

         failure _d:  death

   analysis time _t:  ttodth

              Beg.                      Survivor      Std.

    Time     Total     Fail             Function     Error     [95% Conf. Int.]

-------------------------------------------------------------------------------

crpgt3=0 

      12      3712       47              0.9875    0.0018     0.9834    0.9906

      24      3650       63              0.9707    0.0027     0.9648    0.9757

      36      3565       84              0.9484    0.0036     0.9408    0.9550

      48      3458      107              0.9199    0.0044     0.9108    0.9281

      60      3025      125              0.8841    0.0053     0.8733    0.8941

      72      2915      108              0.8525    0.0059     0.8405    0.8637

      84      2769      146              0.8098    0.0066     0.7965    0.8223

      96       119       80              0.7686    0.0091     0.7501    0.7858

crpgt3=1 

      12      1137       39              0.9668    0.0052     0.9549    0.9756

      24      1089       48              0.9260    0.0076     0.9094    0.9396

      36      1036       53              0.8809    0.0095     0.8609    0.8981

      48       993       43              0.8443    0.0106     0.8222    0.8638

      60       788       46              0.7998    0.0119     0.7752    0.8219

      72       744       44              0.7550    0.0130     0.7285    0.7794

      84       700       44              0.7103    0.0139     0.6822    0.7365

      96        24       32              0.6470    0.0183     0.6098    0.6816

-------------------------------------------------------------------------------

Note:  survivor function is calculated over full data and evaluated at

       indicated times; it is not calculated from aggregates shown at left.

. sts list, by(crpgt5) at(12 24 36 48 60 72 84 96)

         failure _d:  death

   analysis time _t:  ttodth

              Beg.                      Survivor      Std.

    Time     Total     Fail             Function     Error     [95% Conf. Int.]

-------------------------------------------------------------------------------

crpgt5=0 

      12      4076       60              0.9855    0.0019     0.9814    0.9887

      24      3998       78              0.9666    0.0028     0.9607    0.9717

      36      3900       98              0.9429    0.0036     0.9354    0.9496

      48      3777      123              0.9132    0.0044     0.9042    0.9214

      60      3291      136              0.8777    0.0052     0.8672    0.8874

      72      3167      122              0.8451    0.0057     0.8335    0.8560

      84      3011      156              0.8035    0.0064     0.7907    0.8156

      96       122       86              0.7630    0.0088     0.7452    0.7796

crpgt5=1 

      12       773       26              0.9674    0.0063     0.9525    0.9777

      24       740       33              0.9261    0.0093     0.9056    0.9422

      36       701       39              0.8772    0.0116     0.8524    0.8981

      48       674       27              0.8434    0.0129     0.8162    0.8668

      60       522       35              0.7931    0.0147     0.7626    0.8201

      72       492       30              0.7474    0.0160     0.7144    0.7772

      84       458       34              0.6956    0.0172     0.6605    0.7279

      96        20       26              0.6185    0.0231     0.5715    0.6619

-------------------------------------------------------------------------------

Note:  survivor function is calculated over full data and evaluated at

       indicated times; it is not calculated from aggregates shown at left.

#### Obtaining the times corresponding to 90%, 80%, and 75% probability of surviving

#### within strata defined by CRP > 2 or not, by CRP > 3 or not, and by CRP > 5 or not.

#### (Note that stci allows me to specify the percentiles I want, but I can only get

#### one at a time.)

. stci, by(crpgt2) p(10)

         failure _d:  death

   analysis time _t:  ttodth

             |    no. of 

crpgt2       |  subjects         10%     Std. Err.     [95% Conf. Interval]

-------------+-------------------------------------------------------------

           0 |      3057    57.56579      2.060966      53.7171    61.7763

           1 |      1876    35.09868      2.310565      30.9211    40.0658

-------------+-------------------------------------------------------------

       total |      4933    49.07895      1.552079      45.4276    51.6118

. stci, by(crpgt2) p(20)

         failure _d:  death

   analysis time _t:  ttodth

             |    no. of 

crpgt2       |  subjects         20%     Std. Err.     [95% Conf. Interval]

-------------+-------------------------------------------------------------

           0 |      3057          90             .      85.5263    94.4079

           1 |      1876    64.60526      2.659119      60.1645    71.4474

-------------+-------------------------------------------------------------

       total |      4933    80.23026      1.665912      77.5658    83.4211

. stci, by(crpgt2) p(25)

         failure _d:  death

   analysis time _t:  ttodth

             |    no. of 

crpgt2       |  subjects         25%     Std. Err.     [95% Conf. Interval]

-------------+-------------------------------------------------------------

           0 |      3057           .             .            .          .

           1 |      1876    79.93421      2.696516      74.6711    84.7368

-------------+-------------------------------------------------------------

       total |      4933    93.42105             .      90.0658          .

. stci, by(crpgt3) p(10)

         failure _d:  death

   analysis time _t:  ttodth

             |    no. of 

crpgt3       |  subjects         10%     Std. Err.     [95% Conf. Interval]

-------------+-------------------------------------------------------------

           0 |      3758    54.57237      1.863739      52.2368    58.3882

           1 |      1175    30.92105      2.620154      26.0855    34.9671

-------------+-------------------------------------------------------------

       total |      4933    49.07895      1.552079      45.4276    51.6118

. stci, by(crpgt3) p(20)

         failure _d:  death

   analysis time _t:  ttodth

             |    no. of 

crpgt3       |  subjects         20%     Std. Err.     [95% Conf. Interval]

-------------+-------------------------------------------------------------

           0 |      3758    87.07236             .      82.9605    90.5592

           1 |      1175    59.63816      3.261594      53.3882    64.1447

-------------+-------------------------------------------------------------

       total |      4933    80.23026      1.665912      77.5658    83.4211

. stci, by(crpgt3) p(25)

         failure _d:  death

   analysis time _t:  ttodth

             |    no. of 

crpgt3       |  subjects         25%     Std. Err.     [95% Conf. Interval]

-------------+-------------------------------------------------------------

           0 |      3758           .             .            .          .

           1 |      1175    73.84869      3.440871      64.6053    80.1316

-------------+-------------------------------------------------------------

       total |      4933    93.42105             .      90.0658          .

. stci, by(crpgt5) p(10)

         failure _d:  death

   analysis time _t:  ttodth

             |    no. of 

crpgt5       |  subjects         10%     Std. Err.     [95% Conf. Interval]

-------------+-------------------------------------------------------------

           0 |      4135    53.05921       1.80443      49.7368    55.5592

           1 |       798    30.72368      3.152595      24.9013    35.3289

-------------+-------------------------------------------------------------

       total |      4933    49.07895      1.552079      45.4276    51.6118

. stci, by(crpgt5) p(20)

         failure _d:  death

   analysis time _t:  ttodth

             |    no. of 

crpgt5       |  subjects         20%     Std. Err.     [95% Conf. Interval]

-------------+-------------------------------------------------------------

           0 |      4135    85.19736             .      81.5789    88.8487

           1 |       798    58.19079      3.673309      51.0526    64.0789

-------------+-------------------------------------------------------------

       total |      4933    80.23026      1.665912      77.5658    83.4211

. stci, by(crpgt5) p(25)

         failure _d:  death

   analysis time _t:  ttodth

             |    no. of 

crpgt5       |  subjects         25%     Std. Err.     [95% Conf. Interval]

-------------+-------------------------------------------------------------

           0 |      4135           .             .      95.7895          .

           1 |       798    70.88816       3.80624      62.5658    79.3421

-------------+-------------------------------------------------------------

       total |      4933    93.42105             .      90.0658          .

#### Obtaining restricted means (over the support of the censoring distribution)

. stci, by(crpgt2) rmean

         failure _d:  death

   analysis time _t:  ttodth

             |    no. of  restricted

crpgt2       |  subjects        mean      Std. Err.    [95% Conf. Interval]

-------------+-------------------------------------------------------------

           0 |      3057    88.30385(*)   .3622061      87.5939    89.0138

           1 |      1876    82.54922(*)   .6042296      81.3649    83.7335

-------------+-------------------------------------------------------------

       total |      4933     86.1399(*)   .3235439      85.5058     86.774

(*) largest observed analysis time is censored, mean is underestimated

. stci, by(crpgt3) rmean

         failure _d:  death

   analysis time _t:  ttodth

             |    no. of  restricted

crpgt3       |  subjects        mean      Std. Err.    [95% Conf. Interval]

-------------+-------------------------------------------------------------

           0 |      3758    87.74112(*)   .3382111      87.0782     88.404

           1 |      1175    80.91987(*)   .8045155      79.3431    82.4967

-------------+-------------------------------------------------------------

       total |      4933     86.1399(*)   .3235439      85.5058     86.774

(*) largest observed analysis time is censored, mean is underestimated

. stci, by(crpgt5) rmean

         failure _d:  death

   analysis time _t:  ttodth

             |    no. of  restricted

crpgt5       |  subjects        mean      Std. Err.    [95% Conf. Interval]

-------------+-------------------------------------------------------------

           0 |      4135    87.23594(*)   .3338814      86.5815    87.8903

           1 |       798    80.31544(*)   .9810115      78.3927    82.2382

-------------+-------------------------------------------------------------

       total |      4933     86.1399(*)   .3235439      85.5058     86.774

(*) largest observed analysis time is censored, mean is underestimated

##################

####

#### Problem 3

####

##################

#### Because no measurements were censored prior to 4 years, I can create a variable indicating my “diseased” sample 

#### (“healthy= survived for more than 3 years, “diseased”= died within 3 years). 
. g deadin3= ttodth

. recode deadin3 0/36=1 36/max=0

(deadin3: 5000 changes made)

#### Now, because the dataset represents cross-sectional sampling, I can get everything I want from a 2 x 2 table

#### categorizing patients according to test results (CRP > 2 is “positive”, CRP <= 2 is “negative”) and

#### disease (“healthy= survived for more than 3 years, “diseased”= died within 3 years). 
. tabulate crpgt2 deadin3, row col

+-------------------+

| Key               |

|-------------------|

|     frequency     |

|  row percentage   |

| column percentage |

+-------------------+

           |        deadin3

    crpgt2 |         0          1 |     Total

-----------+----------------------+----------

         0 |     2,914        143 |     3,057 

           |     95.32       4.68 |    100.00 

           |     63.36      42.81 |     61.97 

-----------+----------------------+----------

         1 |     1,685        191 |     1,876 

           |     89.82      10.18 |    100.00 

           |     36.64      57.19 |     38.03 

-----------+----------------------+----------

     Total |     4,599        334 |     4,933 

           |     93.23       6.77 |    100.00 

           |    100.00     100.00 |    100.00 

#### Now, because the dataset represents cross-sectional sampling, I can get everything I want from a 2 x 2 table

#### categorizing patients according to test results (CRP > 3 is “positive”, CRP <= 3 is “negative”) and

#### disease (“healthy= survived for more than 3 years, “diseased”= died within 3 years). 
. tabulate crpgt3 deadin3, row col

+-------------------+

| Key               |

|-------------------|

|     frequency     |

|  row percentage   |

| column percentage |

+-------------------+

           |        deadin3

    crpgt3 |         0          1 |     Total

-----------+----------------------+----------

         0 |     3,564        194 |     3,758 

           |     94.84       5.16 |    100.00 

           |     77.50      58.08 |     76.18 

-----------+----------------------+----------

         1 |     1,035        140 |     1,175 

           |     88.09      11.91 |    100.00 

           |     22.50      41.92 |     23.82 

-----------+----------------------+----------

     Total |     4,599        334 |     4,933 

           |     93.23       6.77 |    100.00 

           |    100.00     100.00 |    100.00 

#### Now, because the dataset represents cross-sectional sampling, I can get everything I want from a 2 x 2 table

#### categorizing patients according to test results (CRP > 5 is “positive”, CRP <= 5 is “negative”) and

#### disease (“healthy= survived for more than 3 years, “diseased”= died within 3 years). 
. tabulate crpgt5 deadin3, row col

+-------------------+

| Key               |

|-------------------|

|     frequency     |

|  row percentage   |

| column percentage |

+-------------------+

           |        deadin3

    crpgt5 |         0          1 |     Total

-----------+----------------------+----------

         0 |     3,899        236 |     4,135 

           |     94.29       5.71 |    100.00 

           |     84.78      70.66 |     83.82 

-----------+----------------------+----------

         1 |       700         98 |       798 

           |     87.72      12.28 |    100.00 

           |     15.22      29.34 |     16.18 

-----------+----------------------+----------

     Total |     4,599        334 |     4,933 

           |     93.23       6.77 |    100.00 

           |    100.00     100.00 |    100.00 

##################

####

#### Problems 4 and 5

####

##################

#### Because of censored observations in the presence of cross-sectional sampling, we can (and must) use Kaplan-Meier
#### estimates computed for problem 2 to estimate the positive predictive value and the negative predictive value. Then

#### we will use Bayes rule to get sensitivity and specificity in Problem 4. Bayes rule will be again be used to

#### obtain the predictive value of the positive and predictive value of the negative with alternative values

#### of the prevalence.

#### 

#### Bottom line: No further Stata computations are necessary to answer questions 4 and 5. 
. log close

      name:  <unnamed>

       log:  \\.psf\Home\Documents\teach\datasets\hw5stata.log

  log type:  text

 closed on:   2 Nov 2010, 18:23:39

-----------------------------------------------------------------------------------------------------------
#### I had previously stored the MRI dataset as a Stata data file. 
. cd teach\datasets

. use mri
#### Problems 1, 2, and 3 all ask for the same sorts of analyses, which include:

####
1) Scatterplots with superimposed lowess smooths

####
2) Correlations overall and within strata defined by sex

####
3) Discussion of the discrepancies between the overall correlation, which might depend on

####

a) the variance (or SD) of the “predictor” X variable

####

b) the variance (or SD) of the “response” Y variable within groups that homogeneous with respect to X

####

c) the least squares slope

#### First I get descriptive statistics for all the variables that will be needed. This will give me the standard

#### deviations that I want for age (Problem 1), height (Problem 2), crt (Problem 3) 
. tabstat age height weight fev crt, by(male) stat(n mean sd min q max) col(stat)

Summary for variables: age height weight fev crt

     by categories of: male 

    male |         N      mean        sd       min       p25       p50       p75       max

---------+--------------------------------------------------------------------------------

       0 |       369   74.4065  5.257765        65        71        73        78        91

         |       369  158.5152  6.354294       139       155     158.1     162.4     177.5

         |       369  146.5417  28.60393        74       127       143       162       257

         |       363  1.862173  .4444845     .5695     1.571      1.91     2.155     2.926

         |       367  .9297003   .260759        .5        .8        .9         1       3.2

---------+--------------------------------------------------------------------------------

       1 |       366  74.72678   5.64247        66        71        74        78        99

         |       366  173.0992  6.467023       157     168.6       173     177.3     190.5

         |       366   173.468  26.65525       110     154.5       171       190       264

         |       362  2.552414  .7144854     .4083     2.162    2.6015     2.972     4.471

         |       366  1.198634   .282112        .7         1       1.2       1.3         4

---------+--------------------------------------------------------------------------------

   Total |       735  74.56599  5.451364        65        71        74        78        99

         |       735  165.7774  9.710078       139       158     165.9     173.5     190.5

         |       735  159.9499  30.74122        74     138.5       158       179       264

         |       725  2.206817  .6874556     .4083     1.745     2.158     2.649     4.471

         |       733  1.063984  .3029661        .5        .9         1       1.2         4

------------------------------------------------------------------------------------------

#### I now create the scatterplots. This is easy, because after I created the first such plot, all I had to do was
#### edit the variable names: Problem 1: height age; Problem 2: weight height; Problem 3: fev crt

#### (the plots are shown in the key, where I just used cut and paste to place them there)
. twoway (scatter height age if male==0, col(pink) jitter(1)) (lowess height age if male==0, col(pink) 
> lp(dash)) (scatter height age if male==1, col(blue) jitter(1)) (lowess height age if male==1, col(blue) 
> lp("_...")) (lowess height age), legend (label(1 Females) label(2 Lowess Females) label(3 Males) 
> label(4 Lowess Males) label(5 Lowess All)) xtitle(Age (years)) ytitle(Height (in)) 
> t1(Height by Age in Elderly Adults)

. twoway (scatter weight height if male==0, col(pink) jitter(1)) (lowess weight height if male==0,
> col(pink) lp(dash))  (scatter weight height if male==1, col(blue) jitter(1)) (lowess weight height if
> male==1, col(blue) lp("_...")) (lowess weight height ), legend (label(1 Females) label(2 Lowess Females)
> label(3 Males) label(4 Lowess Males) label(5 Lowess All)) xtitle(Height (in)) ytitle(Weight (lbs))
> t1(Weight by Height in Elderly Adults)

. twoway (scatter fev crt if male==0, col(pink) jitter(1)) (lowess fev crt if male==0, col(pink) lp(dash)) 
> (scatter fev crt if male==1, col(blue) jitter(1)) (lowess fev crt if male==1, col(blue) lp("_...")) 
> (lowess fev crt), legend (label(1 Females) label(2 Lowess Females) label(3 Males) label(4 Lowess Males) 
> label(5 Lowess All)) xtitle(Serum Creatinine (mg/dl)) ytitle(FEV (l/sec))
> t1(FEV by Serum Creatinine in Elderly Adults)
#### Correlation between age, height, weight (this will be used in problems 2)

#### Note that there was no missing data in these variables, so it did not matter whether I used cor or pwcorr

#### Had I included fev and crt in this command, it would have mattered, because fev and crt have some missing data
. cor age height weight 
(obs=735)

             |      age   height   weight

-------------+---------------------------

         age |   1.0000

      height |  -0.1097   1.0000

      weight |  -0.2392   0.5478   1.0000

#### Correlation between age, height, weight within strata defined by sex
. bysort male: cor age height weight
-----------------------------------------------------------------------------------------------------------

-> male = 0

(obs=369)

             |      age   height   weight

-------------+---------------------------

         age |   1.0000

      height |  -0.1930   1.0000

      weight |  -0.3227   0.3518   1.0000

-----------------------------------------------------------------------------------------------------------

-> male = 1

(obs=366)

             |      age   height   weight

-------------+---------------------------

         age |   1.0000

      height |  -0.2063   1.0000

      weight |  -0.2394   0.3866   1.0000
#### And now correlations for fev and crt in the entire sample and by sex
. cor fev crt

(obs=723)

             |      fev      crt

-------------+------------------

         fev |   1.0000

         crt |   0.2228   1.0000

. bysort male: cor fev crt

-----------------------------------------------------------------------------------------------------------

-> male = 0

(obs=361)

             |      fev      crt

-------------+------------------

         fev |   1.0000

         crt |  -0.0056   1.0000

-----------------------------------------------------------------------------------------------------------

-> male = 1

(obs=362)

             |      fev      crt

-------------+------------------

         fev |   1.0000

         crt |   0.0012   1.0000
#### In order to get the least squares slopes and the variability of Y within groups defined by X, I use the regress

#### command in the combined samples and in strata defined by sex
#### For Problem 1

#### I am only interested in the slope (in the row marked “age” and column marked “Coef.”) and

#### the estimated standard deviation of height within groups defined by age (labeled “Root MSE” in the output)
. regress height age

      Source |       SS       df       MS              Number of obs =     735

-------------+------------------------------           F(  1,   733) =    8.93

       Model |  832.567415     1  832.567415           Prob > F      =  0.0029

    Residual |  68373.0775   733   93.278414           R-squared     =  0.0120

-------------+------------------------------           Adj R-squared =  0.0107

       Total |  69205.6449   734  94.2856198           Root MSE      =  9.6581

------------------------------------------------------------------------------

      height |      Coef.   Std. Err.      t    P>|t|     [95% Conf. Interval]

-------------+----------------------------------------------------------------

         age |  -.1953694   .0653939    -2.99   0.003    -.3237511   -.0669877

       _cons |   180.3453   4.889158    36.89   0.000     170.7469    189.9437

------------------------------------------------------------------------------

. bysort male: regress height age

-----------------------------------------------------------------------------------------------------------

-> male = 0

      Source |       SS       df       MS              Number of obs =     369

-------------+------------------------------           F(  1,   367) =   14.19

       Model |  553.291007     1  553.291007           Prob > F      =  0.0002

    Residual |  14305.4635   367  38.9794646           R-squared     =  0.0372

-------------+------------------------------           Adj R-squared =  0.0346

       Total |  14858.7545   368  40.3770503           Root MSE      =  6.2434

------------------------------------------------------------------------------

      height |      Coef.   Std. Err.      t    P>|t|     [95% Conf. Interval]

-------------+----------------------------------------------------------------

         age |  -.2332125   .0619003    -3.77   0.000    -.3549363   -.1114886

       _cons |   175.8677    4.61724    38.09   0.000     166.7881    184.9473

------------------------------------------------------------------------------

-----------------------------------------------------------------------------------------------------------

-> male = 1

      Source |       SS       df       MS              Number of obs =     366

-------------+------------------------------           F(  1,   364) =   16.18

       Model |  649.493759     1  649.493759           Prob > F      =  0.0001

    Residual |  14615.6766   364  40.1529576           R-squared     =  0.0425

-------------+------------------------------           Adj R-squared =  0.0399

       Total |  15265.1703   365  41.8223844           Root MSE      =  6.3366

------------------------------------------------------------------------------

      height |      Coef.   Std. Err.      t    P>|t|     [95% Conf. Interval]

-------------+----------------------------------------------------------------

         age |  -.2364132   .0587818    -4.02   0.000    -.3520078   -.1208186

       _cons |   190.7656   4.405046    43.31   0.000      182.103    199.4281

------------------------------------------------------------------------------

#### For Problem 2

#### I am only interested in the slope (in the row marked “height” and column marked “Coef.”) and

#### the estimated standard deviation of weight within groups defined by height (labeled “Root MSE” in the output)
. regress weight height

      Source |       SS       df       MS              Number of obs =     735

-------------+------------------------------           F(  1,   733) =  314.20

       Model |  208121.534     1  208121.534           Prob > F      =  0.0000

    Residual |  485525.063   733  662.380714           R-squared     =  0.3000

-------------+------------------------------           Adj R-squared =  0.2991

       Total |  693646.597   734  945.022612           Root MSE      =  25.737

------------------------------------------------------------------------------

      weight |      Coef.   Std. Err.      t    P>|t|     [95% Conf. Interval]

-------------+----------------------------------------------------------------

      height |   1.734154   .0978325    17.73   0.000     1.542089     1.92622

       _cons |  -127.5337   16.24618    -7.85   0.000    -159.4283   -95.63911

------------------------------------------------------------------------------

. bysort male: regress weight height

-----------------------------------------------------------------------------------------------------------

-> male = 0

      Source |       SS       df       MS              Number of obs =     369

-------------+------------------------------           F(  1,   367) =   51.83

       Model |   37260.541     1   37260.541           Prob > F      =  0.0000

    Residual |  263831.396   367  718.886638           R-squared     =  0.1238

-------------+------------------------------           Adj R-squared =  0.1214

       Total |  301091.937   368  818.184612           Root MSE      =  26.812

------------------------------------------------------------------------------

      weight |      Coef.   Std. Err.      t    P>|t|     [95% Conf. Interval]

-------------+----------------------------------------------------------------

      height |   1.583556   .2199576     7.20   0.000      1.15102    2.016091

       _cons |  -104.4759   34.89455    -2.99   0.003    -173.0942   -35.85755

------------------------------------------------------------------------------

-----------------------------------------------------------------------------------------------------------

-> male = 1

      Source |       SS       df       MS              Number of obs =     366

-------------+------------------------------           F(  1,   364) =   63.98

       Model |  38769.5254     1  38769.5254           Prob > F      =  0.0000

    Residual |   220563.91   364  605.944808           R-squared     =  0.1495

-------------+------------------------------           Adj R-squared =  0.1472

       Total |  259333.436   365  710.502563           Root MSE      =  24.616

------------------------------------------------------------------------------

      weight |      Coef.   Std. Err.      t    P>|t|     [95% Conf. Interval]

-------------+----------------------------------------------------------------

      height |   1.593655    .199235     8.00   0.000     1.201859    1.985452

       _cons |  -102.3924   34.51142    -2.97   0.003    -170.2592   -34.52562

------------------------------------------------------------------------------

#### For Problem 3

#### I am only interested in the slope (in the row marked “crt” and column marked “Coef.”) and

#### the estimated standard deviation of fev within groups defined by crt (labeled “Root MSE” in the output)
. regress fev crt

      Source |       SS       df       MS              Number of obs =     723

-------------+------------------------------           F(  1,   721) =   37.67

       Model |   16.979524     1   16.979524           Prob > F      =  0.0000

    Residual |  325.025028   721  .450797542           R-squared     =  0.0496

-------------+------------------------------           Adj R-squared =  0.0483

       Total |  342.004552   722  .473690515           Root MSE      =  .67141

------------------------------------------------------------------------------

         fev |      Coef.   Std. Err.      t    P>|t|     [95% Conf. Interval]

-------------+----------------------------------------------------------------

         crt |   .5052796   .0823303     6.14   0.000     .3436438    .6669154

       _cons |   1.668308   .0912343    18.29   0.000     1.489192    1.847425

------------------------------------------------------------------------------

. bysort male: regress fev crt

-----------------------------------------------------------------------------------------------------------

-> male = 0

      Source |       SS       df       MS              Number of obs =     361

-------------+------------------------------           F(  1,   359) =    0.01

       Model |  .002236842     1  .002236842           Prob > F      =  0.9154

    Residual |  71.1420301   359  .198167215           R-squared     =  0.0000

-------------+------------------------------           Adj R-squared = -0.0028

       Total |   71.144267   360  .197622964           Root MSE      =  .44516

------------------------------------------------------------------------------

         fev |      Coef.   Std. Err.      t    P>|t|     [95% Conf. Interval]

-------------+----------------------------------------------------------------

         crt |  -.0095456   .0898466    -0.11   0.915    -.1862374    .1671462

       _cons |   1.869222   .0868447    21.52   0.000     1.698433     2.04001

------------------------------------------------------------------------------

-----------------------------------------------------------------------------------------------------------

-> male = 1

      Source |       SS       df       MS              Number of obs =     362

-------------+------------------------------           F(  1,   360) =    0.00

       Model |  .000268871     1  .000268871           Prob > F      =  0.9817

    Residual |  184.286396   360  .511906655           R-squared     =  0.0000

-------------+------------------------------           Adj R-squared = -0.0028

       Total |  184.286665   361  .510489375           Root MSE      =  .71548

------------------------------------------------------------------------------

         fev |      Coef.   Std. Err.      t    P>|t|     [95% Conf. Interval]

-------------+----------------------------------------------------------------

         crt |   .0030555   .1333214     0.02   0.982    -.2591312    .2652421

       _cons |   2.548745   .1644175    15.50   0.000     2.225406    2.872085

------------------------------------------------------------------------------

##################

####

#### Problem 4
####

##################

#### I had previously stored the Mayo PBC dataset as a Stata data file. 
. use liver
#### Change units on observation time to months instead of days 
. replace obstime= obstime / 30.4

(418 real changes made)

#### This problem asks for descriptive statistics of the time to death distribution overall, as well as within

#### strata defined by severity of edema or defined by the combination of severity of edema and presence or

#### absence of ascites.

#### 
#### For descriptive statistics I will produce

#### 
1) plots of the Kaplan-Meier estimates of survival

####
2) tabular presentation of the 1 year, 2 year, 3 year, and 4 year probability of survival

####   3) tabular presentation of the 25th percentile, median, and 75th percentile of the time to death distribution

####   4) tabular presentation of the 10 year restricted mean (the average number of months alive during the first

####        10 years)

####  

#### To obtain the restricted mean, I will need to define a variable measuring truncated observation times, so

#### I will first get all the survival curves, survival probabilities, and quantiles

#### Set the survival time variables

. stset obstime status

     failure event:  status != 0 & status < .

obs. time interval:  (0, obstime]

 exit on or before:  failure

------------------------------------------------------------------------------

      418  total obs.

        0  exclusions

------------------------------------------------------------------------------

      418  obs. remaining, representing

      161  failures in single record/single failure data

 26369.51  total analysis time at risk, at risk from t =         0

                             earliest observed entry t =         0

                                  last observed exit t =  157.7303
#### Getting graphs of the survival curves

. sts graph

         failure _d:  status

   analysis time _t:  obstime

. sts graph, by(edmadj)

         failure _d:  status

   analysis time _t:  obstime

. sts graph if ascites==0, by(edmadj) t1(Probability of Survival by Edema in Absence of Ascites) xtitle(Follow-up Time (months))

         failure _d:  status

   analysis time _t:  obstime

. sts graph if ascites==1, by(edmadj) t1(Probability of Survival by Edema in Absence of Ascites) xtitle(Follow-up Time (months))

         failure _d:  status

   analysis time _t:  obstime

. sts graph if ascites==1, by(edmadj) t1(Probability of Survival by Edema in Presence of Ascites) xtitle(Follow-up Time (months))

         failure _d:  status

   analysis time _t:  obstime
#### Getting estimates at survival at yearly intervals

. sts list, at(12 24 36 48)

         failure _d:  status

   analysis time _t:  obstime

              Beg.                      Survivor      Std.

    Time     Total     Fail             Function     Error     [95% Conf. Int.]

-------------------------------------------------------------------------------

      12       389       30              0.9282    0.0126     0.8990    0.9493

      24       366       20              0.8802    0.0159     0.8450    0.9078

      36       314       31              0.8039    0.0196     0.7622    0.8391

      48       246       19              0.7516    0.0217     0.7060    0.7911

-------------------------------------------------------------------------------

Note:  survivor function is calculated over full data and evaluated at

       indicated times; it is not calculated from aggregates shown at left.

. sts list, by(edmadj) at(12 24 36 48)

         failure _d:  status

   analysis time _t:  obstime

              Beg.                      Survivor      Std.

    Time     Total     Fail             Function     Error     [95% Conf. Int.]

-------------------------------------------------------------------------------

edmadj=0 

      12       343       12              0.9661    0.0096     0.9411    0.9806

      24       328       12              0.9320    0.0134     0.9003    0.9539

      36       285       25              0.8591    0.0187     0.8179    0.8916

      48       228       13              0.8166    0.0212     0.7709    0.8542

edmadj=.5 

      12        38        7              0.8409    0.0551     0.6950    0.9208

      24        33        5              0.7273    0.0671     0.5700    0.8349

      36        26        4              0.6364    0.0725     0.4767    0.7590

      48        18        4              0.5322    0.0771     0.3717    0.6690

edmadj=1 

      12        10       11              0.4500    0.1112     0.2311    0.6471

      24         7        3              0.3000    0.1025     0.1225    0.5014

      36         5        2              0.2000    0.0894     0.0624    0.3931

      48         2        2              0.0750    0.0664     0.0063    0.2656

-------------------------------------------------------------------------------

Note:  survivor function is calculated over full data and evaluated at

       indicated times; it is not calculated from aggregates shown at left.

. sts list, by(edmadj ascites) at(12 24 36 48)

         failure _d:  status

   analysis time _t:  obstime

              Beg.                      Survivor      Std.

    Time     Total     Fail             Function     Error     [95% Conf. Int.]

-------------------------------------------------------------------------------

edmadj=0 ascites=0 

      12       253        5              0.9805    0.0086     0.9539    0.9919

      24       246        6              0.9571    0.0126     0.9239    0.9760

      36       216       19              0.8809    0.0204     0.8341    0.9152

      48       178       11              0.8331    0.0239     0.7800    0.8743

edmadj=0 ascites=1 

      12         6        1              0.8333    0.1521     0.2731    0.9747

      24         6        0              0.8333    0.1521     0.2731    0.9747

      36         5        1              0.6667    0.1925     0.1946    0.9044

      48         5        0              0.6667    0.1925     0.1946    0.9044

edmadj=.5 ascites=0 

      12        23        3              0.8800    0.0650     0.6726    0.9596

      24        21        2              0.8000    0.0800     0.5844    0.9115

      36        16        4              0.6400    0.0960     0.4221    0.7938

      48        13        1              0.5973    0.0986     0.3808    0.7596

edmadj=.5 ascites=1 

      12         3        2              0.5000    0.2500     0.0578    0.8449

      24         3        0              0.5000    0.2500     0.0578    0.8449

      36         3        0              0.5000    0.2500     0.0578    0.8449

      48         2        2                   .         .          .         .

edmadj=1 ascites=0 

      12         5        2              0.6667    0.1925     0.1946    0.9044

      24         5        0              0.6667    0.1925     0.1946    0.9044

      36         3        2              0.3333    0.1925     0.0461    0.6756

      48         2        0              0.3333    0.1925     0.0461    0.6756

edmadj=1 ascites=1 

      12         6        9              0.3571    0.1281     0.1303    0.5944

      24         3        3              0.1429    0.0935     0.0232    0.3655

      36         3        0              0.1429    0.0935     0.0232    0.3655

      48         1        2                   .         .          .         .

-------------------------------------------------------------------------------

Note:  survivor function is calculated over full data and evaluated at

       indicated times; it is not calculated from aggregates shown at left.

#### Getting estimates of 25%ile, median, 75%ile

. stsum

         failure _d:  status

   analysis time _t:  obstime

         |               incidence       no. of    |------ Survival time -----|

         | time at risk     rate        subjects        25%       50%       75%

---------+---------------------------------------------------------------------

   total |  26369.50666   .0061055           418   48.09211  111.6776         .

. stsum , by(edmadj)

         failure _d:  status

   analysis time _t:  obstime

         |               incidence       no. of    |------ Survival time -----|

edmadj   | time at risk     rate        subjects        25%       50%       75%

---------+---------------------------------------------------------------------

       0 |  23816.54614   .0048706           354   67.59869    123.75         .

      .5 |  2146.381568   .0121134            44   19.63816  53.15789  117.1382

       1 |  406.5789462   .0467314            20    4.30921  8.684211  28.25658

---------+---------------------------------------------------------------------

   total |  26369.50666   .0061055           418   48.09211  111.6776         .

. stsum, by(edmadj ascites)

         failure _d:  status

   analysis time _t:  obstime

edmadj   |               incidence       no. of    |------ Survival time -----|

ascites  | time at risk     rate        subjects        25%       50%       75%

---------+---------------------------------------------------------------------

     0 0 |  18296.90797   .0045909           257   74.21053    123.75         .

     0 1 |  368.3552632   .0135739             6   27.10526  68.45395  101.6447

    .5 0 |  1427.434201   .0091072            25   26.28289  63.32237         .

    .5 1 |  92.33552623   .0433203             4   2.532895  11.44737  39.17763

     1 0 |  225.2960539    .022193             6   4.605263  28.25658  112.7632

     1 1 |  181.2828923   .0772274            14   4.276316  7.335526   13.1579

---------+---------------------------------------------------------------------

   total |   20591.6119   .0060704           312   48.91447  111.6776         .

#### Getting estimates of the 10 year restricted mean

#### Note that I have to create a new variable that censors at 10 years everyone who lived beyond 10 years

#### Then I just use stset with the new variables, and the command stci with the rmean option

. g obstime10= obstime

. replace obstime10= 120 if obstime > 120

(35 real changes made)

. g status10=status

. replace status10=0 if obstime>120

(5 real changes made)

. stset obstime10 status10

     failure event:  status10 != 0 & status10 < .

obs. time interval:  (0, obstime10]

 exit on or before:  failure

------------------------------------------------------------------------------

      418  total obs.

        0  exclusions

------------------------------------------------------------------------------

      418  obs. remaining, representing

      156  failures in single record/single failure data

 25796.64  total analysis time at risk, at risk from t =         0

                             earliest observed entry t =         0

                                  last observed exit t =       120

. stci, rmean

         failure _d:  status10

   analysis time _t:  obstime10

             |    no. of  restricted

             |  subjects        mean      Std. Err.    [95% Conf. Interval]

-------------+-------------------------------------------------------------

       total |       418    86.00061(*)   2.176558      81.7346    90.2666

(*) largest observed analysis time is censored, mean is underestimated

. stci, rmean by(edmadj)

         failure _d:  status10

   analysis time _t:  obstime10

             |    no. of  restricted

edmadj       |  subjects        mean      Std. Err.    [95% Conf. Interval]

-------------+-------------------------------------------------------------

           0 |       354    92.33679(*)   2.173089      88.0776     96.596

          .5 |        44    64.18813(*)    7.24719      49.9839    78.3924

           1 |        20    22.15625      6.835506       8.7589    35.5536

-------------+-------------------------------------------------------------

       total |       418    86.00061(*)   2.176558      81.7346    90.2666

(*) largest observed analysis time is censored, mean is underestimated

. stci, rmean by(edmadj ascites)

         failure _d:  status10

   analysis time _t:  obstime10

edmadj       |    no. of  restricted

ascites      |  subjects        mean      Std. Err.    [95% Conf. Interval]

-------------+-------------------------------------------------------------

         0 0 |       257    94.60426(*)   2.401532      89.8973    99.3112

         0 1 |         6    67.05409      15.97171      35.7501    98.3581

        .5 0 |        25    72.24794(*)   9.499703      53.6289     90.867

        .5 1 |         4    23.08388       8.19973      7.01271    39.1551

         1 0 |         6    49.10636      18.87155      12.1188    86.0939

         1 1 |        14    12.94878       3.57329      5.94526    19.9523

-------------+-------------------------------------------------------------

       total |       312    86.54471(*)   2.455456      81.7321    91.3573

(*) largest observed analysis time is censored, mean is underestimated

#### Getting crosstabulations to assess associations between ascites and edema in the sample
. tabulate ascites edmadj, cell row col

+-------------------+

| Key               |

|-------------------|

|     frequency     |

|  row percentage   |

| column percentage |

|  cell percentage  |

+-------------------+

           |              edmadj

   ascites |         0         .5          1 |     Total

-----------+---------------------------------+----------

         0 |       257         25          6 |       288 

           |     89.24       8.68       2.08 |    100.00 

           |     97.72      86.21      30.00 |     92.31 

           |     82.37       8.01       1.92 |     92.31 

-----------+---------------------------------+----------

         1 |         6          4         14 |        24 

           |     25.00      16.67      58.33 |    100.00 

           |      2.28      13.79      70.00 |      7.69 

           |      1.92       1.28       4.49 |      7.69 

-----------+---------------------------------+----------

     Total |       263         29         20 |       312 

           |     84.29       9.29       6.41 |    100.00 

           |    100.00     100.00     100.00 |    100.00 

           |     84.29       9.29       6.41 |    100.00 

. log close

